Roll No:-
Sem- I / 11 Diploma Exam 2023 (Odd)
[Time: 3 Hours] (Common Branch) (Theory) [Max. Marks:70]
Fundamental of IT System (T2418104)

- All questions are compulsory. (ﬂlﬁ 1K) a{ﬁaﬁ% )
- Marks are mentioned on the right side of each question. (3 T Uy & T8 3R &mﬁv_aél)

Group (A) (YU -¥§)

Q.1  Choose the most suitable answer from the following options. (1*20=20)

Sudw fawea & e ford |) :-

i. Which generation of computers introduced the use of transistors?

([ g Uit & R H TR BT IUINT Y= ga1?)

(a) First Generation (b) Second Generation  (c) Third Generation (d) Fourth Generation
CERIRIEY) (ERIREEIRE) USRI (el dieh
. What is the main function of the motherboard? (FeXaTS T H& BT 4T §7)
(a) To store data (3EI TR PA D ﬁ*ﬂ;f)

(b) To provide input and output (1Y 3R 3fT3cYc Uald A %ﬁﬂf)
(c) To connect all the components of the computer together W & g gewl & Uch 1Y GiIS_ % %Q)
(d) To control the flow of electricity within the computer W & HidR faoTell & varg &) Fad s & ﬁﬁ)

iii.  Which of the following is equal to a gigabyte? (MEIRIT H Y P TT T THTEISC & SRR 8?)

(a) 1024 Bytes (b) 512 GB (c) 1024 megabytes (d) 1024 bits
(1024 ST3CH) (512 SitelT) (1024 TRTIETZC) (1024 forcH)
iv. Which of the folloxving IS not a characteristic of a computer?
rafafea 7 @ o W e o fagvar 781 8?)
(a) Versatility (HEH@EF%‘J-H) (b) Accuracy (R[xdl) (c) Diligence (<TT) d) 1.Q (&n's‘.aag)
V. The 2’s complement of 5 is (2 DT 5 Pl PP %)
(a) 1011 (b) 0101 (c) 1010 (d) 0011
vi.  The binary number 1110 in hexadecimal format is
RFTSRIAT UReT H ST W& 1110 ?)
(@6 (b) E (c) 14 (d) 15
vii.  Which of the following is the fastest means of memory access for CPU?

iy & forg AU T &1 qad o Ired FHEfiad § Y w9 a1 e?)
(a) Registers (T%IET) (b) Cache (30_5[) (c) Main memory (H'@W{ﬁl) (d) Virtual Memory (Gﬂ‘l-mflﬁlﬁ)

viii.  The bus used to connect the monitor to the CPU is
@TeR oI Hdig I Se & forg IuahT &t o arelt s ?)
(a) PCI bus (T3S &) (b) SCSI bus (TITTISAE §9)  (c) Memory bus FHRI ) (d) Rambus (379
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iXx.  The output of a gate is LOW when at least one of its inputs is HIGH. This is true for

(foelt 7 BT STITYE Td HH BT & Fd SUDT HH Y HH TP S1YC I 5idl 5| P (o4 I8 ¥4 )

(@) AND (b) NAND (c) OR (d) NOR
X. Which of the following gates can be used as an inverter
afeiad & T ford e &1 Sua 398 & TU H fHa1 51 IohdT §7)
(@) AND (b) OR (c) XOR (d) None of the above (378 9 HIg gl

Xi. The decimal number 17 is equal to the binary number (31 SHTE FaR BT SR R TGN )
(2)10010 (b)11000 () 10001 (d) 01001

Xii.  What is the primary purpose of an operating system? (GRHTd TBT 17 STSR1 TS & SRR g )
(a) To manage computer hardware and software resources (c) To run applications

(FHCR FISIW 3R JRIWR VAU PTYGUT BN (UGB I & o)

(b) To prowde a graphlcal user interface (GUI) (d) All of the above
(T d JoR Sexh Y (SY3MTE) UG &) (S| & g
xiii.  Which type of operating system is typically used on personal computers and laptops?
THR BT HTRAT ReH AR TR T $eR 3R dueiy IR IuaRT {1 STl 8?)
(a) Single-user, smgle tasking (c) Multi-user, single-tasking
(UHA-IUINTH I, ThHd-HI) (Eng'-duq\l‘lwdlr, UHd-HH)
(b) Single-user, multi-tasking (d) Multi-user, multi-tasking
(deﬂ-dqq\l‘ [ddl, 9g-P) (@g-STANTSH I, Tg-PI)

Xiv.  What is the name of the Windows installation wizard? (ﬁ?ﬁﬁ é%lale-l faviTs &l M ERT[%?)

(a) Setup (Fe3MT) (b) Install (371 (c) Configure (HIHTR)  (d) Initialize (FAREAET)

XV.  What is the purpose of an IP address? (IP Td &1 B%'SPCI eal| %?)
(@) An IP address is a unique identifier that is assigned to each computer on a network.
(3T TS U fafRy ugaad! § S Aead IR Udd HueR &I 9l oirdl §)

(b) An IP address is used to route data packets to the correct destination.

DI e Tded I UgaM & oY T STSUl Ud &1 SUANT faba T §)

(c) An IP address is used to protect data from unauthorized access.

(ST P! 3FRIFHd Ugd ¥ a1 & T ST Ue &1 SUINT fHa1 A g 1)
(d) All of the above.

(S| & T

xvi.  Data communication system within a building or campus is

(P Ha7 1 TR & MR ST TIR UOMA E )

(a) LAN (b) WAN (c) MAN (d) None of the above (3TH I ®Ig gl
XVii. is a type of software designed to help the user's computer detect viruses and avoid them.
( TP UHR BT WHCITR ¢ o) STARTEHA! & HHeR BT ARy &I Udl T 3R 379 g4 |
HEE P & for feorms fpar mar g1)

(a) Malware (A@dTR)  (b) Adware (TSIW)  (c) Antivirus (GSTaRIRY)  (d) Both b and ¢ (& 3R Tt gAY
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XViil.

In the computer networks, the encryption techniques are primarily used for improving the
H guR & forg faam smar )
(d) Longevity (Eﬁ"ifGﬂTﬂ)

(LR cddh H, WWWWH@W@

(a) Security (JR&T)  (b) Performance (Q_CF‘«’T:I) (c) Reliability (ﬁ%ﬁ‘ﬂﬂ?ﬂ)

An attempt to harm, damage or cause threat to a system or network is broadly termed as

Wﬁﬂ%ﬂmﬂcqw B B UgHN, TSI UgaM U1 Wkl U1 R & YT b1 Hle dR R

XiX.

EZASIGIR)

(a) Cyber crime (b) Cyber attack (c) System hijacking
(HTgeR 3URTY) (HTgeR gH) (ﬁIET[ 3{UgrU)

XX.

(@) Bus
(e

Q.2

Q.3

Q.4

Q.5

Q.6

If all the devices are connected to a central hub then topology is called?

@fe Tt fearsy Ue Ucd 89 9 IS B dl cludrel dgardt 8?)
topology (b) Ring topolggy (c) Star topology

(R
Group (B) (34 -dM
What is web browser? Give its examples.

(A9 STSOR HT 82 $TD IaTexUl ST )
OR (31YdT)

Convert the following binary numbers to equivalent decimal numbers.

(2) 11010 (b) 10110001
RT3 D1 I SR A3 H dd |
(2) 11010 (b) 10110001)

What is booting?

ST R 8?)

What are logic bombs?

(SIS 99 &1 87)

Differentiate between authentication and authorization.

(THTORBRUT 3R UIFHR0T & &g 3R &1dTd.)
OR (31¥dT)

Describe the various components of a network.

(Acadd & fAfHa Ui ol qui- o |)

What is the difference between a hub and a switch?

(@9 3R &= 7 @1 3R 27)
OR (3faT)

What is an operating system?

(U TR Rew a1 82)

Differentiate between multiprogramming and multitasking.

(A ITRIRAT 3R AedteRb & diF 3R Fany))

OR (31YdT)
What is DigiLocker? Explain its features.

(SRraTe? Fu1 82 3! favard gd1sa 1)
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OR (31YdT)

(d) Digital crime

3{TRTY)

(d) Tree topology

A
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Group (C) (Y4 ?ﬂ)

Q.7 What are the essential components of computer? Draw the schematic block diagram of a 6
computer showing its essential components. Discuss the functlon of each component

(G & HTTGH Uch F1 52 UL & HAIH UchH| B G gU DT AoHTEG
ST 3G F1E | TAP e & B UR T e )

OR (31YdT)
Discuss the important features of various generations of computers. Give some examples of 6
computer for each generation.

@GR & Al tifedl &1 deaqul oRvarstl )R =@l | A UGl & ol $ER & $S
AR KAIE 1Y)

Q.8 Explain the following: 6
(a) webpage (b) website (c) ISP
DI P BN
() 390 (1) dTTge () Msua)
OR (31YdT)

Discuss AND operation. Draw the schematic block diagram of a 3-input AND gate. Give its truth 6
table.

(Tl Td TTe. 3-399¢ AND TIE &1 T sl G §1¢ | ST Feddl TRt

difsru )

Q.9 Explain OR operation. Give table for 2-input and 3-input OR gates. 6
(OR S{TURTM THTEY | 2-39YC OR, 3-37YC OR I & T qrfersht )

OR (31Yd)

What are the methods/strategies that can be used to protect the system against V|rus threat? 6
@ﬁqmﬁmmm%wmnmmw & TR Y S & forg far s
Thdl 8?)

Q.10 Discuss various transmission modes. 6

(fafire crafem A R Taf ®1)
OR (31YdT)

What is Unix shell? Explain its features. 6

RIEESREER KA I CRIRIUERIELT)

Q.11 Write short notes on following: 6
(a) program counter (b) instruction register (c) peripheral devices

(FreferRed TR Hignd ey ford:
(a) TTOITH FTIER (b) ISR IR (o) TRelir Suasen)
OR (S{Yd)
Give two advantages of the following transmission media: 6
(a) Optical fiber (b) satellite

CITHRM Hifsd & gl e Jard:
(a) SHTDBE BTZR (b) SUIE)
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